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@ cos45° = 7\/_ ® tan60° = ?
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7. HA x 9 gke 7-oHH?

2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826

@D 8.192 ® 5.736 3 5.878 @ 8.09 B 8.29
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@® CD =sin40°

@ BD =1--cos40°
——  sin20°
AC =

® sin 40 °
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@ ACAD = §sin40°>< (14 cos40°)
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® ACAO = isin40°
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12. & ™83 -8 AABC A /B = 45°, /C = 60°, BC = 60cm 4
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Z% | AR (sin) | ZAFI (cos) | HHAIE (tan)

45° | 0.7071 0.7071 1.0000

46° 0.7193 0.6947 1.0355

47° 0.7314 0.6820 1.0724

48° 0.7431 0.6691 1.1106
@® -0.724 @ -0.6820 ® 0.3903

@ 0.3180 3B 0.6820
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@® 9.2 (m) @ 10 (m)
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A
22° 58°
B< = C
"=-20cm--" D

z | sin | cos | tan
22°10.37(0.93/0.40
58°10.85/0.53/1.60




